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df = pd.read csv("student initial.csv")

df.columns = ['sex’,'age’, 'address’, 'famsize’, 'Pstatus’,'V
from sklearn.preprocessing impert LabelEncoder
labelencoder = LabelEncoder()

df[ 'sex']= labelencoder.fit_transform(df[ 'sex'])

df[ 'address']= labelencoder.fit_transform{df[ 'address"])
df[ 'famsize']= labelencoder.fit transform{df[ 'famsize'])

dedu’, 'Fedu', "Mjob’,['Fjob", "re:

sex age address tamsize Pstatus ... Dalc Walc health absences
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=3 HE}:EL N s 3. feature 1 (©.039866)
4. feature 27 (0.038395)
5. feature 24 (9.838381)
6. feature 23 (0.037975)
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Feature importances

0175
feature 13 (©.836982)

feature 7 (9.036505)

0125 - feature 6 (0.035764)
18. feature 26 (©.835726
0.100 ' : )

0.075 4 12. feature 9 (©.033956)
13. feature 5 (©.833498)
14, feature 12 (©.033401)
0.025 1 15. feature 8 (©.832396)
16. feature 11 (©.029522)
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from sklearn.model selection import train_test split
X = np.array(data.ix[:, data.columns != 'score']) #FEscoredTiEr
y = np.array(data.ix[:, data.columns == 'score']) #score
X train, X test, y train, y test = train_test split(X, vy,
test size=0.2, random state=0) #

#Z T IRANT B 8|4

from sklearn.naive bayes import GaussianhB
model = GaussianNB()
model.fit(X train res, y train res)

HTFHIGER
y_pred = model.predict(X_test)

#EE TR ALETESR
from sklearn import metrics
print("Accuracy:",metrics.accuracy score(y test, y pred))
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params_grid = [{'kernel': ['rbf'], 'gamma': [1le-3, 1le-4],
c': [1, 10, 100, 1000]},

from sklearn.svm import SVC
svm_model = GridSearchCV(SvC(), params_grid, cv=5)
svm_model.fit(X train,y train)

# B ERIBATERL DA

print{ 'Best C:",svm_model.best estimator_ .C,"%n")

tinal_model = svm_model.best_estimator_
y_pred = final_model.predict(X_test)

print{classification_report(y_test,y pred))

{'kernel’: ['linear'], 'C': [1, 1@, 100, 1080]}]

print{ 'Best Kernel:',svm _model.best estimator_ .kernel,"‘\n")
print({ 'Best Gamma:",svm _model.best estimator_.gamma,"

\n")
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clf = MLPClassifier(hidden layer sizes=(21,50), max_iter=1000,activation = ‘relu’,solver='adam',random state=1)
clf.fit(X _train, y train)
print (clf.n_layers )

print("Accuracy of MLPClassifier : """, clf.score(X test,y test))
RIEFRAE 0.369

1ERRAE 0.392
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model = Sequential()
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model.add(Dense(7@, input _dim=29, activation='relu’)})
model .add(Dense(3@, activation="relu')})

model . add(Dropout(8.5))

model.add(Dense(1@, activation="relu')})

model.add(Dense(1@, activation="relu')})

model.add(Dense(1l, activation="sigmoid'))
print{model.summary())

model.compile(loss="binary_ crossentropy’,
optimizer="adam",

AUEKRKEHReLU ~ sigmoid
LR A™Adam

metrics=[ 'accuracy'])
train_history=model.fit(X train_res, y train_res,batch size=188,
epochs=38,verbose=2,
validation split=6.1)
scores = model.evaluate(X_ test, y_test, verbose=1)
print("Accuracy:",scores[1])

RIERE 0.421

EFAE 0.416
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